BEABEII NO.TEY

SHOT—<: BEBESE»S, {THIFEFEBIKC L TEZXS, IRD
TEHMEN NS THh D,

FIE 7.1. C LD 0 TRWEED 1 2HLIHERA f 1% 1 IRNDFEIZH i
TE5, REFOHEATH)

E&E 7.2. Ac M,(C)IZHULT, e C » A DEFE < Iv # 0 such
that Av = A\v.

ADHEAEMNIHUT, Ax =X x 229 x#0% N IZETD A
DOEBNT ML LS,

FOEEBET ETD] OLIAF THWindd] LWHEELRMHHE
BEtHd,

el 7.3. A e C 2' A DOFEHMHE < det(\E, — A) = 0.
R 7.1. C EDO nRIESA1TH A FADR< e 1 DOEAHEEFED,

EHE 7.4. fa(x) = det(zE, — A) DI % A DEAEZER, HER
falz)=0DZ k% A DEAEHEXELIFSR,
ﬁ?_ii 7.5. *Eiﬁ‘@éﬁﬁg )\1, ce ,/\k 6:%‘3’6 ﬁ’\ﬁ ]\)l/ X1y...,Xg
=M TH B,
W 7.6 FAM A, N, WETIEANT MV x, . x, B
ML TH 27251,

A(xy, .y xp) = (x1,. .., Xy )diagonal (A, ..., A\y)
0 (x1,. %) ZENSHNT T,
A= (xl, ..., xp)diagonal( Mg, ..., A)(x1, ..., X))

Dl

( \

& 7.7. A= (ay) PRATHITH 2 L ix. NAKSUIAD S M 0,
ERAYP)>
aij =0 (i#jDEI)
MERY LD E FITW D,
ANR—=ZDHEET, 2D [EH] TiE 4175 D = diagonal(dy, da, . . ., d,) ]

EVWOESSHETDL, WARSMN di,...,d, THEIF 0 THDEO%E
THEVIEERTH D,

X AFTFE L ORPPRIFRANIZZ Uy, 2, 4175 D = diagonal(dy, da, . . .

W UTIE, BEAXRYZ ML ey, ... e, N

De; = die;, Dey =dsyey, Des=dses, ..., De,=d,e,,
U TSN H6TH D,
iRl 7.8. W17 A = diagonal(ay, . .., a,), B = diagonal(by, ..., b,)
WX LT,

(1) A+ B = diagonal((a; + by1), ..., (a, + b,)).
(2) A— B = diagonal((a; — b1), ..., (a, — by)).
(3) cA = diagonal(cay, ..., can) (c eR. )
(4) AB = diagonal(ayby, ..., a,by,).
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1

,dp)



